



## **WEIGHTED SYMMETRIC ESTIMATORS OF AUTOREGRESSIVE MODELS**

**Sayed Mesheal El-Sayed, Ahmed Amin El-Sheikh and  
Mohamed Khalifa Ahmed Issa**

Institute of Statistical Studies and Research  
Cairo University  
Egypt  
e-mail: aham103@yahoo.com

### **Abstract**

In this paper, the estimators of the parameters of AR(2) model with (without) constant term will be derived using weighted symmetric (WS) method of estimation. The linearization and the unbiasedness of the estimated parameter of AR(1) model will be proven which is an extension of Park and Fuller [5].

### **1. Introduction**

Dickey et al. [1] proposed the simple weighted symmetric estimator (SWS) for AR(1) model constructed with  $w_t = 0.5$ . Park and Fuller [5] derived the WSE for AR(1) model without constant term. Fuller [2] suggested a modification of the WSE for AR(1) model approximated for

---

Received: September 8, 2015; Revised: September 19, 2015; Accepted: October 12, 2015

2010 Mathematics Subject Classification: 62P20.

Keywords and phrases: time series, autoregressive models, AR(1) model, AR(2) model, weighted symmetric method, unbiasedness.

Communicated by K. K. Azad

$\rho \in (-1, 1]$ . So and Shin [6] applied a recursive mean adjustment to the OLS estimator (R-OLS) and they concluded that the mean squares error of the R-OLS estimator, is smaller than the OLS estimator for  $\rho \in (0, 1)$ . They also showed that the estimator has a coverage probability that is close to the nominal value. Panichkitkosolkul [3] suggested an estimator for an unknown mean Gaussian AR(1) process with additive outliers by applying the recursive median adjustment to the weighted symmetric estimator (Rmd-W). Youssef et al. [7] suggested an OLS estimator for AR(2) model with constant and the properties of the estimated parameters have been derived. Also, a closed form of the variance of the estimated parameters has been obtained.

## 2. WS Estimator for Autoregressive Model

In this section, the parameter of AR(1) model without constant and its properties will be derived. Moreover, the estimators for AR(2) model with (without) constant will be obtained by using the weighted symmetric method.

### 2.1. WS estimator for AR (1) without constant

Park and Fuller [5] introduced a weighted symmetric estimator of AR(1) model that has the form:

$$y_t = \rho y_{t-1} + \varepsilon_t, \quad t = 2, 3, \dots, n, \quad (1)$$

where  $\{\varepsilon_t\}$  are IID  $(0, \sigma^2)$  random variables, and  $y_0$  is a fixed. Under the stationarity condition,  $|\rho| < 1$ , a backward representation of model (1) can be represented as:

$$y_t = \rho y_{t+1} + \varepsilon_t, \quad t = 2, 3, \dots, n. \quad (2)$$

The weighted symmetric estimator of  $\rho$  is the estimator that minimizes:

$$Q_{ws}(\rho) = \sum_{t=2}^n w_t (y_t - \rho y_{t-1})^2 + \sum_{t=1}^{n-1} (1 - w_{t+1}) (y_t - \rho y_{t+1})^2. \quad (3)$$

By differentiating equation (3) with respect to  $\rho$  and equal to zero to get,

$$\sum_{t=2}^n w_t (y_t - \rho y_{t-1}) y_{t-1} + \sum_{t=1}^{n-1} (1 - w_{t+1}) (y_t - \rho y_{t+1}) y_{t+1} = 0. \quad (4)$$

By solving equation (4) to obtain:

$$\hat{\rho}_{ws} = \frac{\sum_{t=2}^n w_t y_t y_{t-1} + \sum_{t=1}^{n-1} y_t y_{t+1} - \sum_{t=1}^{n-1} w_{t+1} y_t y_{t+1}}{\sum_{t=1}^{n-1} y_{t+1}^2 + \sum_{t=2}^n w_t y_{t-1}^2 - \sum_{t=1}^{n-1} w_{t+1} y_{t+1}^2}, \quad (5)$$

where  $w_t (0 \leq w_t \leq 1)$ ,  $t = 1, 2, \dots, n$  had the form:

$$w_t = \begin{cases} 0, & t = 1, 2, \dots, p, \\ (n - 2p + 2)^{-1}(t - p), & t = p + 1, p + 2, \dots, n - p + 1, \\ 1, & t = n - p + 2, n - p + 3, \dots, n, \end{cases} \quad (6)$$

where  $p$  is the number of the estimated parameters.

And as a result  $\hat{\rho}_{ws}$  will take the form:

$$\hat{\rho}_{ws} = \frac{n^{-1} \sum_{t=2}^n (t-1) y_t y_{t-1} + \sum_{t=1}^{n-1} y_t y_{t+1} - n^{-1} \sum_{t=1}^{n-1} t y_t y_{t+1}}{\sum_{t=1}^{n-1} y_{t+1}^2 + n^{-1} \sum_{t=2}^n (t-1) y_{t-1}^2 - n^{-1} \sum_{t=1}^{n-1} t y_{t+1}^2}, \quad (7)$$

which can be simplified by using Hoang [4] to the form:

$$\hat{\rho}_{ws} = \frac{\sum_{t=2}^n y_t y_{t-1}}{\sum_{t=2}^{n-1} y_t^2 + n^{-1} \sum_{t=1}^n y_t^2}. \quad (8)$$

## 2.2. Properties of the Weighted Symmetric Estimator (WS)

### (a) The linearity of (WS) estimator of AR(1)

By reformulated equation (8),  $\hat{\rho}_{ws}$  can be rewritten as:

$$\hat{\rho}_{ws} = \sum_{t=2}^n G_t y_t, \quad (9)$$

where

$$G_t = \frac{y_{t-1}}{\left[ \sum_{t=2}^{n-1} y_t^2 + n^{-1} \sum_{t=1}^n y_t^2 \right]}.$$

This provided the linearity of the estimator.

### (b) Unbiasedness of (WS) estimator of AR (1)

By using the values of  $y_t$  of (1) and (2) in (9) to get,

$$\begin{aligned} \hat{\rho}_{ws} &= \frac{\sum_{t=2}^n w_t y_{t-1} (\rho y_{t-1} + \varepsilon_t) + \sum_{t=1}^{n-1} y_{t+1} (\rho y_{t+1} + \varepsilon_t) - \sum_{t=1}^{n-1} w_{t+1} y_{t+1} (\rho y_{t+1} + \varepsilon_t)}{\sum_{t=1}^{n-1} y_{t+1}^2 + \sum_{t=2}^n w_t y_{t-1}^2 - \sum_{t=1}^{n-1} w_{t+1} y_{t+1}^2}. \quad (10) \end{aligned}$$

It can be shown that, equation (11) can be rewritten as:

$$\hat{\rho}_{ws} = \rho + \frac{\sum_{t=2}^n w_t y_{t-1} \varepsilon_t + \sum_{t=1}^{n-1} y_{t+1} \varepsilon_t - \sum_{t=1}^{n-1} w_{t+1} y_{t+1} \varepsilon_t}{\sum_{t=1}^{n-1} y_{t+1}^2 + \sum_{t=2}^n w_t y_{t-1}^2 - \sum_{t=1}^{n-1} w_{t+1} y_{t+1}^2}. \quad (11)$$

By taking the expectation of equation (11) and since  $E(\varepsilon_t) = 0$  the property of unbiasedness will be proved.

### 2.3. WS estimator for AR(2) model without constant

Let, the second order autoregressive model can be defined as:

$$y_t = \rho_1 y_{t-1} + \rho_2 y_{t-2} + \varepsilon_t, \quad t = 3, 4, \dots, n, \quad (12)$$

where  $\{\varepsilon_t\}$  are IID  $(0, \sigma^2)$  random variables, and  $(y_0, y_{-1})$  is a fixed. A backward representation of the model (12) can be written as

$$y_t = \rho_1 y_{t+1} + \rho_2 y_{t+2} + \varepsilon_t, \quad t = 3, 4, \dots, n. \quad (13)$$

The weighted symmetric estimators of (12) and (13) are the estimators that minimize:

$$\begin{aligned} Q_{ws}(\rho_1, \rho_2) = & \sum_{t=3}^n w_t (y_t - \rho_1 y_{t-1} - \rho_2 y_{t-2})^2 \\ & + \sum_{t=1}^{n-2} (1 - w_{t+1}) (y_t - \rho_1 y_{t+1} - \rho_2 y_{t+2})^2. \end{aligned} \quad (14)$$

By differentiating equation (14) with respect to  $\rho_1$  and  $\rho_2$  and equal to zero, to get

$$\begin{aligned} & \sum_{t=3}^n w_t (y_t - \hat{\rho}_1 y_{t-1} - \hat{\rho}_2 y_{t-2}) y_{t-1} \\ & + \sum_{t=1}^{n-2} (1 - w_{t+1}) (y_t - \hat{\rho}_1 y_{t+1} - \hat{\rho}_2 y_{t+2}) y_{t+1} = 0. \end{aligned}$$

So,  $\hat{\rho}_1$  can be obtained as:

$$\hat{\rho}_1 = H_1 - \hat{\rho}_2 M_1, \quad (15)$$

where

$$H_1 = \frac{\sum_{t=3}^n w_t y_t y_{t-1} + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_t y_{t+1}}{\sum_{t=3}^n w_t y_{t-1}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_{t+1}^2},$$

$$M_1 = \frac{\sum_{t=3}^n w_t y_{t-1} y_{t-2} + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_{t+1} y_{t+2}}{\sum_{t=3}^n w_t y_{t-1}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_{t+1}^2}.$$

Also,  $\hat{\rho}_2$  can be obtained as:

$$\hat{\rho}_2 = H_2 - \hat{\rho}_1 M_2, \quad (16)$$

where

$$H_2 = \frac{\sum_{t=3}^n w_t y_t y_{t-2} + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_t y_{t+2}}{\sum_{t=3}^n w_t y_{t-2}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_{t+2}^2},$$

$$M_2 = \frac{\sum_{t=3}^n w_t y_{t-1} y_{t-2} + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_{t+1} y_{t+2}}{\sum_{t=3}^n w_t y_{t-2}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) y_{t+2}^2}.$$

By solving equations (15) and (16) to get

$$\begin{cases} \hat{\rho}_1 = \frac{H_1 - H_2 M_1}{(1 - M_2 M_1)}, \\ \hat{\rho}_2 = \frac{H_2 - H_1 M_2}{(1 - M_2 M_1)}. \end{cases} \quad (17)$$

#### 2.4. WS estimator for AR(2) with constant

By adding the constant term to equation (12) and under the same assumptions above, taking the expectation of the model,

$$y_t = \alpha + \rho_1 y_{t-1} + \rho_2 y_{t-2} + \varepsilon_t, \quad t = 3, 4, \dots, n. \quad (18)$$

To get

$$(1 - \rho_1 - \rho_2) \bar{y} = \alpha, \quad (19)$$

where

$$\bar{y} = \frac{1}{n-2} \sum_{t=3}^n y_t.$$

So, equation (18) can be written as:

$$\mathbf{z}_t = \rho_1 \mathbf{z}_{t-1} + \rho_2 \mathbf{z}_{t-2} + \varepsilon_t, \quad (20)$$

where  $\mathbf{z}_t = (y_t - \bar{y})$ ,  $\mathbf{z}_{t-1} = (y_{t-1} - \bar{y})$  and  $\mathbf{z}_{t-2} = (y_{t-2} - \bar{y})$ .

Similarly, the backward autoregressive models can be rewritten as:

$$\mathbf{z}_t = \rho_1 \mathbf{z}_{t+1} + \rho_2 \mathbf{z}_{t+2} + \varepsilon_t, \quad (21)$$

where  $\mathbf{z}_{t+1} = (y_{t+1} - \bar{y})$  and  $\mathbf{z}_{t+2} = (y_{t+2} - \bar{y})$ .

The weighted symmetric estimators of model (20) are the estimators that minimizes,

$$\begin{aligned} Q_{ws}(\rho_1, \rho_2) = & \sum_{t=3}^n w_t (\mathbf{z}_t - \rho_1 \mathbf{z}_{t-1} - \rho_2 \mathbf{z}_{t-1})^2 \\ & + \sum_{t=1}^{n-2} (1 - w_{t+1}) (\mathbf{z}_t - \rho_1 \mathbf{z}_{t+1} - \rho_2 \mathbf{z}_{t+1})^2. \end{aligned} \quad (22)$$

Following the same procedures as above the estimators  $(\hat{\rho}_1, \hat{\rho}_2)$ , can be

obtained as:  $\hat{\rho}_1 = \frac{K_1 - K_2 F_1}{(1 - F_2 F_1)}$  and  $\hat{\rho}_2 = \frac{K_2 - K_1 F_2}{(1 - F_2 F_1)}$ , respectively.

Where

$$K_1 = \frac{\sum_{t=3}^n w_t \mathbf{z}_t \mathbf{z}_{t-1} + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_t \mathbf{z}_{t+1}}{\sum_{t=3}^n w_t \mathbf{z}_{t-1}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_{t+1}^2},$$

$$K_2 = \frac{\sum_{t=3}^n w_t \mathbf{z}_t \mathbf{z}_{t-2} + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_t \mathbf{z}_{t+2}}{\sum_{t=3}^n w_t \mathbf{z}_{t-2}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_{t+2}^2},$$

$$F_1 = \frac{\sum_{t=3}^n w_t \mathbf{z}_{t-1} \mathbf{z}_{t-2} + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_{t+1} \mathbf{z}_{t+2}}{\sum_{t=3}^n w_t \mathbf{z}_{t-1}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_{t+1}^2},$$

$$F_2 = \frac{\sum_{t=3}^n w_t \mathbf{z}_{t-1} \mathbf{z}_{t-2} + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_{t+1} \mathbf{z}_{t+2}}{\sum_{t=3}^n w_t \mathbf{z}_{t-2}^2 + \sum_{t=1}^{n-2} (1 - w_{t+1}) \mathbf{z}_{t+2}^2}.$$

### References

- [1] D. A. Dickey, D. P. Hazal and W. A. Fuller, Testing for Unit Roots in Seasonal Time Series, *JASA* 79 (1984), 355-367.
- [2] W. A. Fuller, Introduction to Statistical Time Series, 2nd ed., Wiley, New York, 1996.
- [3] W. Panichkitkosolkul, New estimator for an unknown mean Gaussian AR(1) process with additive outliers, *Chiang Mai J. Sci.* 37 (2010), 14-20.
- [4] N. T. Hoang, New Tests for Cointegration in Hetrogeneous Panels, Working Paper, Department of Economics, University of Colorado at Boulder, 2006.
- [5] H. J. Park and W. A. Fuller, Alternative estimators and unit root tests for the autoregressive process, *J. Time Series Analysis* 16 (1995), 415-429.
- [6] B. S. So and D. W. Shin, Recursive mean adjustment in time series inferences, *Statists. Prob. Lett.* 43 (1999), 65-73.
- [7] A. H. Youssef, A. El-Sheikh and M. Khalifa, An inference of the second order autoregressive model with unit roots, *International Mathematical Forum* 6(52) (2011), 2595-2604.